Diff Cal - 2.6 Related Rates & 3.1 Extrema on an Interval September 29, 2015

Homework for Test #3 2 "

d Y =
HW #10 due Tues. 9/29: A% 8

2.5 #1-39 odd; 43, 47 - Implicit Differentiation

HW #11 due Fri. 10/2:

2.6 # 15-23 odd - Related Rates

2.6 # 25, 27, 35 - Related Rates (more challenging problems)
3.1 #17-31 odd - Absolute Extrema on an Interval

3.2 #7-19 odd - Rolle's Theorem

3.2 # 31-37 odd - Mean Value Theorem

3.3 # 11-31 odd - Increasing, Decreasing, and Relative Extrema
3.4 #11-25 odd - Inflection Points and Concavity

Review
1. Use the alternate limit definition of the derivative to show that the function

F(x)=|x—3|+1 is not differentiable at the point (3,1).

2. An object is thrown from a height of 12 feet with an initial velocity of -4 feet

pevr second.
(a) Determine the velocity of the object after 1/2 of a second.

(b) Determine the average velocity of the object from O seconds to 3/4 of a second.
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2. An object is thrown from a height of 12 feet with an initial velocity of -4 feet
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(b) Determine the_average velocity of the object from O seconds to 3/4 of a second.
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£K) has a relative maximum ot

nimmum when £ = O, oc
-F‘(X> IS Mdeg'ngd.
We call such
X-Values

Criticad #5 of £

3.1 Find +he abosolute max & min
on +he closed interval.
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_ woT
%0. g(x)=secx , |7C 3
Find +he absolute mMax & min
on +he closed interval .
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